SAT(K-S) Question Booklet SI. No.

Tz, 360 ToZReFER 3 3TUeE Vel
DEPARTMENT OF STATE EDUCATIONAL RESEARCH AND TRAINING
NO. 4,100 FT RING ROAD, BANASHANKARI, 3RD STAGE, BANGALORE-560 085

NV R0.N0.QFF. wacg , NWPOWTT 2012
NMMS EXAMINATION, NOVEMBER 2012
&3 — Il / PAPER - Il 30ne - 8/CLASS -8

mssoﬁ% g%% ﬁ@cg /SCHOLASTIC APTITUDE TEST

REGISTERNO.:| 2|4 | 1| 1| 2

[TO® : 90 QRTINS QN /FRT nosy wosns : 90
TIME : 90 MINUTES ENGLISH/KANNADA MAX. MARKS : 90

welePerivr] TeedSritd

1. @0eg w93083reOB Ieazle Te FF, PIFoDYY BRIHIR, FOBDE WP odeP)Te BHE3 YLD, Yk
03D, BOFTIFR). heers odroule deeR FOBDOTY BE, LODDLAD 23ed FB, PBabah, BBoLIFRY.
2. 28 &.ox0°.e0°. (OMR) 0033 B3 w@BleoRTH. 90 BB Hvddm B, DB, drT JerdeoN.
3. &.zbe.e50°. (OMR) Becos slnanesndyy Sewdhad exg o drivd), (Re0wed TS0k, B0ezy shogkad. e90r, Zoedad
OB, Bk, oo AR $8 [IYD) BODRN HabAY WTF FODORLH WOBSTIERY, O (Sew® BBDPD).
4. 2oy BZEd swgod. Bde JB 00T WOTIW.
5. ﬁ@efg ©THON,
* B8 TB,0d, Beridesdon0s LOO.
* 33 B[ QerderpNdE3 Doey ev3orid ds oD e0ITBD, BOR &ROWO.
* &.0x°.e30° (OMR) Bye3Bey B BB, F0adr? TO BOW0ED e0ITBR, HTOSTEN JeBeINTES Toey) )Bri¥
By TOORT LLITH 3B, Vees/TF) Toowad eJeer® HooWOELF Br® o suEodeeNd MDD Frodd.
* ou%e : 20 Je BB,0d TO vITY) B. TO. 3 8NFY &.2°.60°. (OMR) D33y 3. TO. 20 3 SO Te ded
Qee9/BE) 230e° HOWOLT B evmodeeNd aﬁe)gaﬁab& OB BIBDRD. Be FErT B0edITOI B0 o)
B0023e.

200 DQ @@ (33 ovwozdB B3)
6. 20w BBI evITTN 20BEOB Bey) B,BITR), DD BPBBY WOIH FLITIFR, SBOW BJOMBR
@oéﬁ%’ab& Qe NP)OY.

7. 83 IOTTYIN s, BB, DB derdeoNss.

8. &.0x0°.e0°. (OMR) iy 63 gﬁ*dg eae,)’?gf;bs Foro BRBH daegamdﬁda BPcde T Sroselesn.

9. BBezy WBH BN 0BT PVIOIT &.e°.e80°. (OMR) D)e3B, BB Deeyeso0F0T STe L yTITR.
10. =Bezy Bes@daesr, f;‘ggugsdewos, draa%os dradmeéoi;ab& (fam&@de aéﬁéﬁ)aﬁ emﬁ%dsaﬁéﬁs&) @Sd)@dﬁ)& QR
11, &.00°.e00°. (OMR) R)e3By, &€ Sromen TeISreh

* 3030w BB 2,06 20T TOAIPR LVITIIE.

* e BB, Dee/B) eI HoOWOELF B0 o BO=3eles), BP0, B0T eheed BesTen Fabe Teled.

* FZrivydos FOoakrith om0 &5ZDR, SOTpReoe N Bowelesdy (Ber® SreBdelesv). el LLITBRY,
Bew® B7oRT weed 2BWLT0NTED BBTIBIY.

* o033 W3FoD ees 23ed ode)e Bedad rHTB/Metdd o afogoimﬁ&se S0@ITH.

12. 90B3 BFODE FoBTEI v Beer Y deed odegde MTB BBIFTZY.

Note : English version of the instructions is printed on the back cover of this booklet

Downloaded from www.inyatrust.com




SAT(K-8) AR

TRIONE TF g TOCE
SCHOLASTIC APTITUDE TEST

NRONTRWLE/CONTENTS
SL.NO. SUBJECT QUESTION NO. PAGE
3 X0 AT FROM TO
g% 50335
QoW n CoIX)
01. PHYSICS ... 1 12 3-6
ASICIoRR
=5
02. CHEMISTRY .. 13 23 7-9
SHOONITOD
=5
03. BIOLOGY 24 35 10-13
3T
=5
04. HISTORY . 36 45 14-16
BSTOD
05. GEOGRAPHY AND ECONOMICS ....... 46 60 17 - 21
PRARRCSTE 1B OFETX
2 =2 =
06. POLITICAL SCIENCE AND
SOCIAL SCIENCE ... 61 70 22 — 25
cmssmﬁ NS BTLTOD
2 = =
07. MATHEMATICS ... 71 90 26 — 30
nedzzex
=5




SAT(K-8) AR

PHYSICS g3z
1. The distance travelled by the bus 1. 20D W word oS3 40 &.Qve.
in one hour is 40 km and 50 km in RBROSSY SRBVIBE. S00OT WO
the next hour. Then the average GosSodey om0 50 &.00. WRORI)

speed of the bus is BRI, HIRES DYS ToITO I

1) 40 km./hr. 1

) 40 &.Qve. / To.
2) 50 km./hr. 2) 50 &.2ve. / To.
3) 45 km./hr. 3) 45 &.Qve. / To.
4) 90 km./hr. 4) 90 &.2ve. / To.

2. The International (Sl) units of

speed, velocity and acceleration 2. o, Ter [ozy TeOweIHeOY
are @omoasa‘eab (SI) exveh Bwed)

4
ms2, ms ', ms™ 1 , MS

2 2 ms™

)

2) ms™, ms?, ms™
) ms2, ms?, ms™
)

) ms °, ms
) ms™', ms
3) ms™2, ms>, ms™
4) ms ' ms™, ms™

ms~, ms™!, ms™2

3. Mass, Force and Acceleration of 3. %2030 BT 008, WO  JoTY
a body are related according to HeTReBRETHT TORORO®D SagtsthS
Newton’s Law of motion. woﬁcﬁ:

1) First 1) FesoSe DA

2) Second 2) 0BIe QOB

3) Third 3) SwetTe DA

4) First and third 4) Ipceose Do SweTTe Q3D
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4. Melting pointofice is 4. FowTPAD TS oD
1) 0K 1) OK
2) 173K 2) 173K
4) 273K 4) 273K
5. The velocity of sound is lowest in 0. BR Feny ___ Semmdy
medium. SOOI,
1) Air 1) cewadd
2) Water 2) 2eo3
3) Glass 3) e
4) lIron
4) se9ers

6. Mathematical form of Kinetic
6. zsoaefgoi) 08%e0 SpS

Energy is

)2 ) o
2 2y )
3) Zm 3) =m
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7. The first artificial satellite 7. $OUTY) BCWOT JRTO TyTE

launched by India is
1) Aryabhata

2) Rohini

3) Bhaskara

4) Apple

. Orbital height of the geostationary
satellites (in Kms.) is

1) 16,000
2) 26,000
3) 36,000
4) 46,000

. The number of images formed
when two plane mirrors are placed
at an angle of 36° is

OTTB
1) esoeedes
2) Beesed
3) woIT

4) esze5s

. z;(/a%d PVTHOE BIBYS SZTOX BT

(&.80e. BEY)
1) 16,000
2) 26,000
3) 36,000

4) 46,000

. AVR TOBO BVJEDE SRR

BeeS 36° et Bedadvs

TIL0WTIE 750938
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10. According to the

11.

12.

‘Law of
Conservation of Energy’

1) Energy can be created and
destroyed

2) Energy can be created but cannot
be destroyed

3) Energy can neither be created nor
be destroyed

4) Energy cannot be converted from
one form to another

A student pushes against a tree
with a force of 10 N. The tree does
not move. Then what is the amount
of force exerted by the tree on the
student ?

1) ON
2) 10N
3) 15N
4) 20N

Sl unit of temperature is
1) Joule

2) Kelvin

3) Celsius

4) Fahrenheit

10. ‘38 TOTTE' VORT TS0

11.

1) 030 aje)&%ajwa, JTTRIT R
TR

2) BEONTY Be) aje)efgaj%oaéam. LInte]
DOTTRIEN ?\mﬁ?gé’bgg

3) & 03039, aje)&%ajwa, JTTRIT R
SEloiAlS]

4) BEODTY) WO TRTAOT SOBR/OTO

d@wg 237339000 e mﬁﬁzgé’bgg

2% DWYPEARD 20w FTHTY 10N
WOROW ZB'%?%&‘:)DD’. S8PT DVOR)
zs’esgfoa’)&e‘%. FTOOOD T DUTR) &
samtge;)roi) e TOASReH®OT WO
Jbote ) ?

1) ON

2) 10N

3) 15N

4) 20N

12. o3 ©0T0ReCt) HTS (SI)

1) weer®
2) éegpﬁ
3)

o,

egodoass

4) ngda%esse
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13.

14.

15.

16.

CHEMISTRY

Rutherford’s atomic model failed
to explain

1) The stability of the atom

2) The mass of the neutron

3) The position of the protons

4) The presence of the electrons

The second postulate of
Dalton became invalid after the
discovery of

1) Isotopes

2) Electrons

3) Neutrons

4) Energy levels

Gram molecular mass of H,SO, is
1) 89¢

2) 86¢g
3) 98¢
4) 689

How many grams of Magnesium
is required to prepare 1 gm of
Hydrogen molecule ?

1) 12

2) 14

3) 21

4) 16

13.

14.

15.

16.

B0 RToT

RO PReE S BT DA
chs.}& QTOT NTEIeT0DB)

1) BTS00 %dé

2) Ragwoes THsoe8

3) Vet sy am@s

4) @eﬁ@@pﬁdg PDE

m%ass BOeta @:wgoﬁd ATBI O
HeYT 0IN esa)ocp’omm’ca’% PROY
@a@dw In{olv1e]

1) ?dwoam@@dgo
2 'aejsg)dmﬁgo

H,SO, S 90 ewTedosn
1) 89 oo

2) 86 me0
3) 98 oo
4) 68 90

LOWY T30 a"éw’@emv essaoas’a’od
BVBINTED aa’g @ods‘@ me}ieaqoi)o
weserHz ?

1) 12

2) 14
3) 21
4) 16
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17.

18.

19.

20.

The correct sequence of elements
in the decreasing order of their
reactivity is

1) Na, Fe, Cu, Ag

2) Fe,Na, Cu, Ag

3) Cu, Fe, Na, Ag

4) Na, Cu, Ag, Fe

The oxidising agent among the
following is

1) Hydrogen peroxide

2) Magnesium

3) Hydrogen sulphide

4) Sulphur-di-oxide

During the preparation of chlorine
in the lab, the liberated chlorine
gas should be passed through
water for

1) oxidation

2) chlorination
3) purification
)

4) sterilization

The bleaching and sterilizing
property of chlorine is due to

1) Oxygen

2) Hydrochloric acid

3) Hydrogen

4) Nascent oxygen

17.

18.

19.

20.

SWROTTYOY gmm"mgd QPVSZ O
eamdwg PIH0YE TOATT OIVTD
1) Na, Fe, Cu, Ag

2) Fe,Na, Cu, Ag

3) Cu, Fe, Na, Ag

4) Na, Cu, Ag, Fe

Bl a’e’a;s‘q‘)de’e‘g, em:b;m?csaa—aa
03 WORT

1) ééci/ae%aﬁ ﬁoa%eswe

2) do&&eoqoiao

3) ééci/ae%aﬁ ajeféwe

4) TQO° - By - T
?.gjoa’aaerfmej’oa’oe% 6’\{9’803@
30T LWBITBOITOE esg)ows.b
eS8 V)T HeoNTLIeD) HFTORT

ziofgeaass WUSTed B FNTBE
msa'é F590£050) )0

1) e

2) BBReBReOTE &)
3) écé/aemsﬁ

4) SeBoess eSO
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21.

22,

23.

The atomic number of zinc is 30.
The valency of zinc is

When an electric current is passed
through molten sodium chloride

1) Sodium metal is deposited at the

positive electrode

2) Sodium ions are deposited at the

positive electrode

3) Chlorine gas is liberated at the

positive electrode

4) Chlorine ions are liberated at the

positive electrode

The mutual exchange of metallic
and non-metallic parts is found in

1) Chemical combination
2) Chemical displacement
3) Chemical decomposition

4) Chemical double decomposition

21.

22,

23.

BRDS Hoer Tosly 30, ©TT
SecSQox0,

BROT BeeBo30o zio@,edgcses Swees

som?ggmas CpletvGIADI e}

1) Bre®ao Sre®dn) S am§mgw
oeed ei’eaadmmgcj

2) TReB®OJOO0 BOITITITEY F'D
DRREITE e0eeS BT

3) TREOT® WO TS DWW
eed LERITBAIRNOITS

4) BReo® BABIDTE BS DRRWTS
oeed WETBAIPRIBE

See® I) WSReBT OTEY TTJT
so@a’oojotfaae’%a’)w’a'od 5 AR
o TNDleV eI goi)oi)g Sotargess.

1) CoTOOE Toodeer
2) ToDa000E mq)sa'dg%ss
3) ToT0DT AP

4) CoTe0RT Q) VPRI
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24,

25.

26.

27.

BIOLOGY

Volvox and Pandorina are

1) Unicellular organisms living in
colonies

2) Filamentous algae living in water

3) Multicellular algae living in marshy
places

4) Photosynthetic microbes growing in
seas and oceans

Coconut fibre is an example for
1) Vasculartissue

2) Supporting tissue

3)

4)

Connective tissue

Meristematic tissue

The correct pair of parasites
among the following is
1) Nepenthes — Insects
2)
3)
)

4) Cuscuta—Tapeworm

Hookworm — Mushroom

Earthworm — Roundworm

Which among the following is not
concerned with protein synthesis ?
1) Endoplasmic reticulum

2)
3)
4)

Ribosome
Centrosome

Nucleolus

10

24,

25.

26.

27.

e8edTOT
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1) STBIOCEY 3eDTS AT BweT
INIEAIQR=N]

2) DeOTEY 22DV BOBD ei’édoms’o

3) PTITTeTTEY 3eRTID B
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28.

29.

30.

Grape juice was added with yeast
and was preserved for a long time
to prepare wine. This process is

1) Anaerobic respiration

2) Aerobic respiration

4) Pasteurisation

)

)
3) Saprophytic nutrition

)

In plants, when compared to
animals, less excretory
substances are produced. This is
because

1) There is no special excretory
system in plants

2) Absence of muscular activities in
plants

3) Rate of metabolism is low in plants

4) Plants have simple structure

When we run fast, the rate of
respiration and heart beat
increases. This coordination is
brought about by

1) Muscular system

)

2) Transport system

3) Nervous system
)

4) Respiratory system

11

28.

29.

30.

ﬁéae 30330 TeN, @zs—go’w"zi omea)';
Ted® WHY A oY
?dodg'aj’emosod). gt BoHasw

T

eeap,)%ss T&d V@063

T TVT BREDTITY g:’gf?grf's’gg,
DTRES STOLY RS TSTetawey
OB BOTTBES. th'i pletn)

1) ?dajzgd%;g% DB RS DTWE o @aﬁ@
'aeo%&)m@m

2) ?\’J?\igdg%% 090300 LI 30D OB B0
'aeo%&)m@m

3) TT0Y 23035:e3030 &Y Je
BRI

4) af(tfsdgo ITLE DR dzﬁ;foo’o;s’o&
BRODS

DoR) TeDNO) HTBINID, VOTIT
S0y BT DAY BWONT VAT
&’za—% o3 w. TR
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31. Internal fertilization does not 31. ¥030T CPrEesE oo wWeRTHY

occurin SBBVIHY?
1) Birds and Snakes 1) WO T weriEd
_ 2) Q0e0TBY OB SEA@LEY
2) Fishes and Frogs
3) BoeTETLL By TZOTED
3) Reptiles and Mammals 4) sesiish T BROOOTE

4) Insects and Whales

32. YW 2e08 FFeBTY Ty, Ve

32. People living near sea shore STY BBOTH ©OIRERT* BOTEY
normally do not suffer from a BEPOHTIT ToOn, S PHeBOYY
disease as the soil, water and food OBV WTOTS Terdecged) Se Beeds
arerich in iodine. The disease is WD
1) Night blindness 1) dzeon3
2) Anaemia 2) 0Z&%eS3
3) Goitre 3) oeowestt (C¥ToE Bweeds)

4) Diabetes mellitus 4) Sorhe®d Spers

33. Black soil is most suitable for 33. B ey FAT ©T03 TeF. TY

agriculture, because it S0t QP

1) is black in colour 1) BT WY BP)

2) has more moisture and organic 2) Besy Beweod Sy TIORD
contents w@ﬁgm& .

3) has less iron oxide
) 3) B A1) @%@Gm& BRODT

4) is found on the river banks
4) SQ 2e0FY SOBWVBE

12
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34. The correct

35.

matching of
organisms and their scientific

names is

A. Dog 1. Equus caballus
B. Peepul 2. Equus assinus
C. Horse 3. Ficus religiosa
D. Donkey 4. Canis familiaris

1) A-4,B-3, C-1, D-2
2) A-2, B-1, C-4, D-3
3) A-3, B-4, C-1, D-2

4) A-4,B-1,C-2, D-3

A biological molecule has to move
from the matrix of a Mitochondrian
to that of a plastid. The number
of membranes it has to move
across is

13

34. 2%eQTE0 TR ORTY a’émqus"

35.

BITTE TOOTE BROWESS
A. Seo 1. G’@%@'ﬁ BRI T®

B. ©0®eH3 2. 5em5T ©903T°

C. 303 3. FzT® OeeeadeesTe
DRALIOITOTD®

1) A-4,B-3, C-1, D-2
2) A-2, B-1, C-4, D-3
3) A-3,B-4, C-1, D-2

4) A-4,B-1,C-2, D-3

TP ReTIOB0ITNT  VINT B 00T
m@%@‘s mq)'éﬁ 2O zsgsaa’ £
WO WeZTOW.

RO HBOWY

BRLTILIL TS BRTOY ?dosj’?g
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HISTORY 8 H00

36. Which of the following is the 36. st FEOTROEY OTToHB0 dTed

example for foreign literature ? TOHTBE VBT
1) Indica 1) 00®Z
2) Rajatarangini 2) CorBTONS
3) = 5O
3) Mudrarakshasa ) BOER0ET
. 4) 03303
4) Buddhacharita 2

37. wes® BeBIIY ey HJoT WYPS®

37. The river which separates India Qm;%p‘dam QOB ATBY FTTYETYO
into two parts, such as Malwa and DOTRHTE O
Deccan plateau is 1) Bremesd SO
1) River Godavari 2) tote I8
i 3) 3T D
2) River Ganga 4 oo oo

4

)
3) River Tapathi
) River Narmada

38. st FEOTITES) TRODRTT TO

BROWS TR
38. Match the following and choose A. @0 1. 0033 tlpersS
the correct alternate B. eofpemerer 2. solmen®
A. Dante 1. Last Supper DR
B. Leonardo C. Tevesnime 3. B3I0Tee®
Da Vinci 2. Telescope SR
C. Galileo 3. Decameron D. SyzeforisSee 4. @HS® S0k
Stories 5 Zodis
D. Michelangelo 4. Divine Comedy
5. Pieta
1) A-2, B-3, C-5, D-1
1) A-2, B-3, C-5, D-1
2) A-1, B-2, C-3, D-4 2) A-1,B-2,C-3, D-4

) )
) )
3) A-4,B-1,C-2,D-5 3) A-4,B-1,C-2,D-5
4) A-3,B-5,C-4,D-2 4) A-3,B-5,C-4,D-2

14
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39.

40.

41.

Name the city where the ‘Great
Bath’ was found

1) Harappa
2) Lothal
3)

)

4) Mohenjodaro

Kalibangan

Identify the correct match for the

following sentences
A. Therevolt of 1857 is also called as
‘Sepoy Mutiny’

The 1857 war put an end to the
supremacy of the English East

India Company
1
2

A is true, B is false
Both A and B are true
3) Ais false, B is true

)
)
)
4) Both A and B are false

Tippu sought the services of

Frenchmen. Wellesley detested
this move of Tippu because

1) Tippu’'s Army would be

strengthened

2) It might strengthen his desire to
fight

3) He might fight against the English

4) He may refuse to join the
‘Subsidiary system’

15

39.

40.

41.
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?docdz;is'de‘\g TR BRY FOBINOQTIS
Soo

—

Geks]
2
3
4
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) Joesor®

) S0BOLRRETITR

e BEOS TR mﬁsdeﬁ BOBROE
esod)

&

A. 1857 © doo’o&am& ‘&0 B[O
QOB FTO3VHYT

B. 1857 © worosn e’ew‘; POBO3I
FTOTOOI @”ms@&dd@’o& SACYS)
TRBOBD

1) =es; A TO. B 33
2) womg A 2y B ©O
3) esg A 3. B TO
4) womg A o3 B 3
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42,

43.

44,

45.

The language which was

developed during Roman period
was

1)
2)
3)
4) Spanish

Latin
Greek
Portuguese

The Mauryan empire which was
the first Indian empire was
established by

1) Bindusara

2) Ashoka

3) Kautilya

4) Chandragupta

Chinese civilization : Hwang Ho
river :: Egyptian civilization :

’
2
3
4

Nile river
Euphrates and Tigris

Gangariver

N N N S

Sindhu river

‘The Eightfold Paths’ for
eliminating desires are preached

by

1) Parswanatha

2) Vardhamana Mahaveera
3) Gautam Buddha

4) Rishabha

16

42,

43.

44,

45.

o’aaea‘op‘&d ea%a’oo’o 6?)063’8‘3,
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1) €395690°
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4) ToRwm®
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46.

47.

48.

GEOGRAPHY & ECONOMICS

The largest fresh water lake in the
world is

1) Huron
2) Ontario
3) Superior
4) Michigan

Which one of the following
statements is correct relating to
Kosciusko in Australia ?

1) Itis the biggest lagoon
2) ltis the highest peak
3) Itis the largest delta

4) ltis an artician well

In Antarctica the Indian Scientific
Study Station is at

1) South pole

2) Vinson massif
3) Erebus

4) Maitri

17

46.

47.

48.
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49. The distance between two

50.

51.

consecutive latitudes is 110.4 kms
where as the maximum distance
between two consecutive
longitudes is

1) 111 km.

2) 121 km.

3

)
)
) 131 km.
)

4) 141 km.

The Indian standard time at
(Allahabad) is 6 A.M. What will be
82'%° E the time at place of 105° E
longitude ?

1) 7.30 PM
2)
3)
4)

7.30 AM
4.30 AM
4.30 PM

Red soil is red in colour due to
Iron oxides. This is the best
example for

1) Mechanical weathering

)
2) Biological weathering
3) Chemical weathering

)

4) Mechanical and Biological

weathering

18

49. HT®Y ©TIOTTYE TRIORVNT ®0oTIT

50.
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52. The diameter of the earth is

53.

54.

almost 4 times greater than the
moon and it is around 107 times
less than that of the sun. That
means the moon’s diameter is

1) 428 times smaller than the sun

2) 107 times smaller than earth

)
)
3) 428 times bigger than the sun

)

4) 107 times bigger than the earth

Arctic ocean is the smallest and
shallowest. Where as the biggest
and deepest ocean is

1) Indian ocean

2) Atlantic ocean

3) Antarctic ocean

)
)
)
)

4) Pacific ocean

India extends from 6°N to 37°N
latitudes under which one of the
following temperature zones it
lies upon
1) Tropical zone and temperate zone
2) Temperate zone and Frizid zone
3) Tropical zone and Frizid zone
)

4) Tropical zone
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55. In group ‘A’ list of volcanoes and

56.

57.

in group ‘B’ countries related to
those are given. Identify the group
that matches.

A B
A. Vesuvius 1. West Indies
B. Krakatoa 2. Japan
C. MountPelee 3. Indonesia
D. Fujiyama 4. ltaly

1) A-4,B-3,C-1,D-2
2) A-3, B-2, C-4, D-1
3) A-2, B-1,C-3, D-4
4) A-1,B-4,C-2, D-3

The other name given to
intellectual and physical work
done in return for money

1) Production

2)
3)
4)

Labour
Gains

Loss

In productional activity

organizers, labourers, promoters,

entrepreneurs, pioneers together

forms

1) Physical capital

2) Raw material capital

3)
)

4) Distribution capital

Human capital
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58. A country buying goods

from other country for its use is
termed as

1) Export
2) Import
3) Retail trade

4) Entrepottrade

59. The statement that suits to the

60.

meaning of the Employer

1) One who appoints the people to do
the work

2) One who does the work assigned

3) One who does not involve in any
kind of work

4) One who gets the wages

Identify the correct group that
matches to intellectual labour

1) Factory workers, Transporters,
Masons

2) Farmers, Artisans, Potters
3) Teachers, Doctors, Lawyers

4) Electricians, Plumbers, Carpenters
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POLITICAL SCIENCE & SOCIAL SCIENCE

61.

62.

63.

Identify the non member of
SAARC group
1) Afghanistan
2)
3)
4) Japan

Pakistan
Bangladesh

In U.N. veto powers are provided to

1) all the members of General
Assembly

2) allthe members of Security Council

3) permanent members of the
Security Council

4) members of International court of
Justice

The situation under which a

consumer can file a petition in the

consumer court

1) If consumer fails to get the proper
goods and services for the money
paid

2) If the petition of the consumer is
not admitted in the civil court

3) If consumer does not get the cash
bill from the seller

4) If consumer is not convinced of the
judgement given in civil court
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64.

65.

66.

I was born in India and my parents
are Indians. | am a citizen of India.
The method under which |
acquired Indian citizenship is

1) by registration

2) by birth

3) by incorporation of a new territory
4) by descent

Aristotle is recognized as the
‘Father of Political Science’
because

1) his contributions to the growth and
development of political science are
valuable

2) he was the student of Plato who
was the disciple of Socrates

3) he wrote ‘Politics’ a book on political
science

4) he discussed the nature and
functions of the state in his book
‘Republic’

Identify the statement which does
not relate to the discipline of
political science

1) political science deals with the
current political party activities

2) political science deals with the
study of the origin of the state

3) political science deals
with the study of the development
of the state

4) political science deals with the
functions of the Government, rights
and duties of citizens
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67. Citizens should follow and

practice fundamental duties

because

1) It helps them to enjoy fundamental

rights

2) It helps for their own progress,

community and the nation
3) It helps them to enjoy political rights

4) It helps them to reside in any part

of India

68. The knowledge of political science

is beneficial to leaders and civil

servants as

1) it helps them to understand and
solve the problems of the people

effectively

2) it helps them to form independent

political parties

3) it helps them to deliver public

lectures

4) it helps them to understand the
economic policies of different

countries
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69. InIndiathere is no special status 69. woUTTY oeRYTe WO FRET

to the people of any religion. All 00T dFeH amq)p‘&bo’o@&g%. )
religions enjoy equal status and Foevutie JHeSmer $300= HRe
respect. The state with such a @swm& QeBeIOT. YOIH® LoD
feature is known as OT DY BROQTO oa%ai QT

1) Sovereign state BROT BID

2) Republican state 1) DeRraed Togg

3) Secular state 2) Crovewg Tozy

4) Socialist state 3) weTaged Doy

4) BZoeweR) oy

70. The culture of one society differs 70. %000 Tows ToF Bosn SBROWD

from the other society. The reason Tben® TOY 3003 ©FHeOBE .

for this difference is YIE FoTRF0TT

1) Culture is transmitted from one 1) TOY, ;303 wOW) LeBTT00OR
generation to another DBRYOTD 2eB3 Brier SO

2) Political system changes from 2) Tow&eadd a;gﬁp;oiw oaa\i&uod oagg
country to country WTIOTOBT

3) Geographical features, traditions 3) FPCRess TS, BTOTT HOTW
and needs of the people vary RST OBV g 5eBeOTBE

4) Economic conditions vary from 4) s [gSPOI0 TIFAOW T

country to country WTIOTOBT
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71.

72.

73.

74.

MATHEMATICS

Th I f—s[i——j 9
evalueof 0| =~ 5 7 is

33 11
1) ) 2) )

3

3) 5 4) -
Which among the following
numbers is a perfect square ?
1) 4442
2) 4212
3) 3249
4) 4444

In the product of (P —2) (P - 3),
the numerical co-efficient of ‘P’ is
2) -3
4) -6

Ram is now half old as his brother.
Ten years ago, his brother’s age
was three times as old as Ram.
The present age of Ram is

1) 20 years
2) 30years
3)

4) 12years

10 years
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1) 4442

2) 4212

3) 3249

4) 4444
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?dom?g VB — TS
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75.

76.

77.

The number which is 12% less
than 350 is

1) 362
2) 338
3) 320
4) 308

The price of a bicycle is ¥ 3,584
including sales tax. If the actual
cost of the bicycle is ¥ 3,200, then
the rate of sales tax is

1) 8%
2) 10%
3) 12%

4) 14%

The area of floorinaroom s 144 m2.
A carpet of dimensions 6 m by
4 mis spread on the floor. The area
of the floor not covered by the
carpetis

1) 120 m?
2) 140 m?
3) 168 m?

4) 210 m?
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1) 362
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78. The value of angles ‘X’ and ‘y’ in

79.

80.

81.

82.

the given figure is respectively

1) 108°and 108°

)
2) 78°and 78°
3) 72°and 72°
4) 54° and 54°
What percent of 6 is 15 ?
1) 90 % 2) 120 %
3) 225 % 4) 250 %

The measure of any exterior angle
of an equilateral triangle is

1) 60° 2) 80°

3) 120° 4) 180°
The cube root of 0.000216 is
1) 0.6 2) 0.06
3) 0.04 4) 0.004

Two supplementary angles are in
the ratio 2:3. The measure of
smaller of the two angles is

1) 36° 2) 72°
3) 90° 4) 102°
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)
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3) 120°

2) 80°
4) 180°
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83. The diameter of a wheel is 70 cm.

84.

85.

86.

The distance covered by the wheel
when it completes 20 revolutions is

1) 4400cm
2) 4200cm
3) 2200cm

4) 1400cm

Which of the following nhumber
leaves remainder zero, when
divided by 4 ?

1) 1024 2) 2226

3) 3242 4) 4118

Which of the following fraction is

3 5
greater than — and less than — ?

) !

5 2

In a box of 20 fruits, there are
6 pineapples and 14 oranges. The
percentage of pineapples is

1) 70 % 2) 50 %

3) 30% 4) 20 %
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87.

88.

89.

90.

X 2) 5x
:7 [ ’3
5 13 The value of ‘X’ in

the given equation is
1) 10 2) 1
3) 12 4) 13

In the given figure, the value of
angle CLD is

A
E
45
60 N
B C D
1) 47° 2) 73°
3) 105° 4) 122°

The perimeter of triangle is

16x2 — 5x — 14. If the two of its
sides are 5x2 + x—7 and 8x2—6x—9,
then the third side is

1) 3x® —5x — 30

2) 3x° + 5x — 16

3) 3x° + 2

4) 3x% = BX + 2

The value of (0.9)?> - (0.6)? is
1) 0.54

2) —0.54

3) —0.45

4) 0.45

87.

88.

89.

90.

X 2) 5x

5 =7 Y s TReTTEY
X S 33
1) 10 2) 11
3) 12 4) 13

Beon w3By, (L Swess W
D) ?

A
E
459N,
60* 2
B s D
1) 47° 2) 73°
3) 105° 4) 122°

200 SRows WIES16x% — 5x — 14
8 JPNIVT QTUBY
5x2 + x = 7 03B 8x? — 6x — 9 &3S,
SRTTe LB

1) 3x°—5x—30

2) 3x° +5x— 16

3) 3x° + 2

4) 3x° —5x + 2

WOBOTI BV

(0.9)> — (0.6)> S @33
1) 0.54

2) —0.54

3) —0.45

4) 0.45
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